




• •

•

•

•



•

•

•



𝑓:ℝ𝑛 → ഥℝ

∀𝑥, 𝑦 ∈ ℝ𝑛 ∀𝜆 ∈ 0,1
𝜆𝑓 𝑥 + 1 − 𝜆 𝑓 𝑦 ≥ 𝑓(𝜆𝑥 + 1 − 𝜆 𝑦)

𝑥 𝑦

𝑓(𝑥)

𝑓(𝑦)

𝜆𝑥 + 1 − 𝜆 𝑦

𝑓(𝜆𝑥 + 1 − 𝜆 𝑦)

𝜆𝑓 𝑥 + 1 − 𝜆 𝑓 𝑦

𝑓



𝑓(𝜆𝑥 + 1 − 𝜆 𝑦)

𝜆𝑓 𝑥 + 1 − 𝜆 𝑓 𝑦

𝑥 𝑦

𝑓

𝜆𝑥 + 1 − 𝜆 𝑦

𝑓:ℝ𝑛 → ഥℝ

∀𝑥, 𝑦 ∈ ℝ𝑛 ∀𝜆 ∈ 0,1
𝜆𝑓 𝑥 + 1 − 𝜆 𝑓 𝑦 ≥ 𝑓(𝜆𝑥 + 1 − 𝜆 𝑦)



𝑆 ⊂ ℝ𝑛

∀𝑥, 𝑦 ∈ 𝑆 ∀𝜆 ∈ 0,1
𝜆𝑥 + 1 − 𝜆 𝑦 ∈ 𝑆

𝑥 𝑦

𝜆𝑥 + 1 − 𝜆 𝑦

𝑆



• min𝑓

•

ℝ𝑛 ℤ𝑛

𝑥 𝑦

𝑓

𝜆𝑥 + 1 − 𝜆 𝑦





𝑓: ℤ → ഥℝ
∀𝑥 ∈ ℤ

𝑓 𝑥 − 1 + 𝑓 𝑥 + 1 ≥ 2𝑓(𝑥)

𝑓

𝑥 𝑥 + 1𝑥 − 1

𝑓 𝑥 − 1 + 𝑓 𝑥 + 1

2
𝑓(𝑥)



𝑓: ℤ → ഥℝ ∀𝑥 ∈ ℤ 𝑓 𝑥 − 1 + 𝑓 𝑥 + 1 ≥ 2𝑓(𝑥)

𝑓

ҧ𝑓: ℝ → ഥℝ
∀𝑥 ∈ ℝ ҧ𝑓 𝑥 = 𝑓(𝑥)

𝑓

𝑓

𝑓 𝑥 ∈ domℤ𝑓

𝑓 𝑥 ≤ min(𝑓 𝑥 − 1 , 𝑓(𝑥 + 1))

𝑓

ҧ𝑓

domℤ𝑓 𝑓 𝑥 ∈ ℝ
𝑓 𝑥 = +∞

𝑓





𝑔:ℝ𝑛 → ഥℝ

𝑔 𝑝 + 𝑔 𝑞 ≥ 𝑔
𝑝 + 𝑞

2
+ 𝑔

𝑝 + 𝑞

2

𝜆𝑓 𝑥 + 1 − 𝜆 𝑓 𝑦 ≥ 𝑓(𝜆𝑥 + 1 − 𝜆 𝑦)
𝜆 = 1/2

𝑔: ℤ𝑛 → ഥℝ

∀𝑝, 𝑞 ∈ ℤ𝑛 𝑔 𝑝 + 𝑔 𝑞 ≥ 𝑔
𝑝 + 𝑞

2
+ 𝑔

𝑝 + 𝑞

2



𝑔 𝑔

𝑔 𝑥 ∈ domℤ𝑔

𝑔 𝑥 ≤ min(𝑔 𝑝 − 𝑞 , 𝑔(𝑝 + 𝑞))



𝑔: ℤ𝑛 → ഥℝ
∀𝑝, 𝑞 ∈ ℤ𝑛 𝑔 𝑝 + 𝑔 𝑞 ≥ 𝑔 𝑝 ∨ 𝑞 + 𝑔 𝑝 ∧ 𝑞

𝑔: ℤ𝑛 → ഥℝ

∀𝑝, 𝑞 ∈ ℤ𝑛 ∀𝛼 ∈ ℤ+ 𝑔 𝑝 + 𝑔 𝑞 ≥ 𝑔 𝑝 − 𝛼𝟏 ∨ 𝑞 + 𝑔 𝑝 ∧ (𝑞 + 𝛼𝟏)

𝑝 ∨ 𝑞 = max 𝑝1, 𝑞1 , max(𝑝2, 𝑞2) , … ,max(𝑝𝑛, 𝑞𝑛)
𝑝 ∧ 𝑞 = min 𝑝1, 𝑞1 , min(𝑝2, 𝑞2) , … ,min(𝑝𝑛, 𝑞𝑛)

𝟏 [1,1,… , 1]ℤ+

𝑔: ℤ𝑛 → ഥℝ 𝑔

𝛼 = 0



𝑓:ℝ𝑛 → ഥℝ
∀𝛼 𝑓 𝑥 + 𝑓 𝑦 ≥ 𝑓 𝑥 − 𝛼 𝑥 − 𝑦 + 𝑓 𝑦 + 𝛼 𝑥 − 𝑦

𝑓: ℤ𝑛 → ഥℝ
∀𝑥, 𝑦 ∈ ℤ𝑛 ∀𝑖 ∈ supp+ 𝑥 − 𝑦
∃𝑗 ∈ supp− 𝑥 − 𝑦 ∪ {0}

𝑠. 𝑡.

𝑓 𝑥 + 𝑓 𝑦 ≥ 𝑓 𝑥 − 𝜒𝑖 + 𝜒𝑗 + 𝑓 𝑦 + 𝜒𝑖 − 𝜒𝑗

supp+ 𝑧 = 𝑖 𝑧𝑖 > 0 , supp− 𝑧 = 𝑖 𝑧𝑖 < 0 ,

𝜒
𝜒0 = 𝟎

𝜆 = 𝛼, 𝜆 = 1 − 𝛼

𝑥
𝑦𝑥 − 𝛼 𝑥 − 𝑦

𝑦 + 𝛼 𝑥 − 𝑦

𝑥 − 𝜒𝑖 + 𝜒𝑗

𝑦 + 𝜒𝑖 − 𝜒𝑗



𝑓 𝑓

𝑓 𝑥 ∈ domℤ𝑓

𝑓 𝑥 ≤ 𝑓(𝑥 − 𝜒𝑖 + 𝜒𝑗)



• min𝑓

•



𝐺(𝑉, 𝐸) 𝑐(𝑒)

𝑆 ⊆ 0,1 𝐸

𝑆 = {𝑒𝑋|𝑋 }

𝑓: ℤ𝐸 → ഥℝ

𝑓 𝑥 = ൞
෍

𝑒∈𝑋

𝑐(𝑒) (𝑥 ∈ 𝑆)

+∞ (otherwise)

𝑓

𝑽 − 𝟏



𝑓: ℤ𝑛 → ഥℝ

𝑛 = 1 𝑓 𝑥 − 1 + 𝑓 𝑥 + 1 ≥ 2𝑓(𝑥)



L♮凸関数
𝑔: ℤ𝑛 → ഥℝ

M♮凸関数
𝑓: ℤ𝑛 → ഥℝ

(連続)凸関数
𝑓:ℝ𝑛 → ഥℝ

並進劣モジュラ
な関数

𝑔: ℤ𝑛 → ഥℝ





𝑔:ℝ𝑛 → ഥℝ
∀𝑝, 𝑞 ∈ ℝ𝑛 ∀𝛼 ∈ ℝ+ 𝑔 𝑝 + 𝑔 𝑞 ≥ 𝑔 𝑝 − 𝛼𝟏 ∨ 𝑞 + 𝑔 𝑝 ∧ (𝑞 + 𝛼𝟏)

𝑔: ℤ𝑛 → ഥℝ

∀𝑝, 𝑞 ∈ ℤ𝑛 ∀𝛼 ∈ ℤ+ 𝑔 𝑝 + 𝑔 𝑞 ≥ 𝑔 𝑝 − 𝛼𝟏 ∨ 𝑞 + 𝑔 𝑝 ∧ (𝑞 + 𝛼𝟏)



𝑓: ℤ𝑛 → ഥℝ
∀𝑥, 𝑦 ∈ ℤ𝑛 ∀𝑖 ∈ supp+ 𝑥 − 𝑦
∃𝑗 ∈ supp− 𝑥 − 𝑦 ∪ {0}

𝑠. 𝑡.

𝑓 𝑥 + 𝑓 𝑦 ≥ 𝑓 𝑥 − 𝜒𝑖 + 𝜒𝑗 + 𝑓 𝑦 + 𝜒𝑖 − 𝜒𝑗
supp+ 𝑧 = 𝑖 𝑧𝑖 > 0 , supp− 𝑧 = 𝑖 𝑧𝑖 < 0 ,

𝜒 𝜒0 = 𝟎

𝑓:ℝ𝑛 → ഥℝ
∀𝑥, 𝑦 ∈ ℝ𝑛 ∀𝑖 ∈ supp+ 𝑥 − 𝑦

∃𝑗 ∈ supp− 𝑥 − 𝑦 ∪ 0 , 𝛼0 ∈ ℝ > 0
𝑠. 𝑡.

∀𝛼 ∈ [0, 𝛼0]

𝑓 𝑥 + 𝑓 𝑦 ≥ 𝑓 𝑥 − 𝛼(𝜒𝑖 − 𝜒𝑗) + 𝑓 𝑦 + 𝛼(𝜒𝑖 − 𝜒𝑗)



L♮凸関数
𝑔:ℝ𝑛 → ഥℝ

M♮凸関数
𝑓:ℝ𝑛 → ഥℝ

L♮凸関数
𝑔: ℤ𝑛 → ഥℝ

M♮凸関数
𝑓: ℤ𝑛 → ഥℝ

(連続)凸関数
𝑓:ℝ𝑛 → ഥℝ

並進劣モジュラ
な関数

𝑔: ℤ𝑛 → ഥℝ





𝑓:ℝ𝑛 → ഥℝ 𝑓∙: ℝ𝑛 → ഥℝ
𝑓∙ 𝑝 = sup( 𝑝, 𝑥 − 𝑓(𝑥)|𝑥 ∈ ℝ𝑛)

𝑝, 𝑥

𝑦 = 𝑝𝑥𝑦 = 𝑓(𝑥)

𝑦 = 𝑝𝑥 − 𝑓(𝑥)

𝑦

𝑥

sup(𝑝𝑥 − 𝑓(𝑥)|𝑥 ∈ ℝ)



𝑓:ℝ𝑛 → ഥℝ 𝑓∙: ℝ𝑛 → ഥℝ
𝑓∙ 𝑝 = sup( 𝑝, 𝑥 − 𝑓(𝑥)|𝑥 ∈ ℝ𝑛)

𝑝, 𝑥

𝑦 = 𝑝𝑥𝑦 = 𝑓(𝑥)

𝑦

𝑥

− sup(𝑝𝑥 − 𝑓(𝑥)|𝑥 ∈ ℝ)

𝑓∙ 𝑝

𝑓 𝑝



𝑓:ℝ𝑛 → ഥℝ
𝑓

𝑓∙ ∙ = 𝑓

• 𝑔:ℝ𝑛 → ഥℝ
𝑓:ℝ𝑛 → ഥℝ

• 𝑓:ℝ𝑛 → ഥℝ
𝑔:ℝ𝑛 → ഥℝ

•

L♮凸関数 M♮凸関数



• 𝑔: ℤ𝑛 → ഥℝ
𝑓:ℝ𝑛 → ഥℝ

• 𝑓: ℤ𝑛 → ഥℝ
𝑔:ℝ𝑛 → ഥℝ

𝑓: ℤ𝑛 → ഥℝ 𝑓∙: ℝ𝑛 → ഥℝ
𝑓∙ 𝑝 = sup( 𝑝, 𝑥 − 𝑓(𝑥)|𝑥 ∈ ℤ𝑛)



• 𝑔: ℤ𝑛 → ℤ
𝑓: ℤ𝑛 → ℤ

• 𝑓: ℤ𝑛 → ℤ
𝑔: ℤ𝑛 → ℤ

•



L♮凸関数
𝑔:ℝ𝑛 → ഥℝ

M♮凸関数
𝑓:ℝ𝑛 → ഥℝ

L♮凸関数
𝑔: ℤ𝑛 → ഥℝ

M♮凸関数
𝑓: ℤ𝑛 → ഥℝ

L♮凸関数
𝑔: ℤ𝑛 → ℤ

M♮凸関数
𝑓: ℤ𝑛 → ℤ





𝑓:ℝ𝑛 → ഥℝ ℎ:ℝ𝑛 → ℝ
∀𝑥 ∈ ℝ𝑛 𝑓 𝑥 ≥ ℎ 𝑥

𝛼∗ ∈ ℝ, 𝑝∗ ∈ ℝ𝑛

𝑓 𝑥 ≥ 𝛼∗ + 𝑝∗, 𝑥 ≥ ℎ 𝑥

𝑓(𝑥)

ℎ(𝑥)
𝑥

𝛼∗ + 𝑝∗, 𝑥



𝑓: ℤ𝑛 → ഥℝ ℎ: ℤ𝑛 → ℝ
∀𝑥 ∈ ℤ𝑛 𝑓 𝑥 ≥ ℎ 𝑥

𝛼∗ ∈ ℝ, 𝑝∗ ∈ ℝ𝑛

𝑓 𝑥 ≥ 𝛼∗ + 𝑝∗, 𝑥 ≥ ℎ 𝑥

𝑔: ℤ𝑛 → ഥℝ 𝑘: ℤ𝑛 → ℝ
∀𝑝 ∈ ℤ𝑛 𝑓 𝑝 ≥ ℎ 𝑝

𝛽∗ ∈ ℝ, 𝑥∗ ∈ ℝ𝑛

𝑔 𝑝 ≥ 𝛽∗ + 𝑝∗, 𝑥 ≥ 𝑘 𝑥



𝑓1, 𝑓2: ℤ
𝑛 → ഥℝ 𝑥∗ ∈ domℤ𝑓1 ∩ domℤ𝑓2

∀𝑥 ∈ ℤ𝑛 𝑓1 𝑥∗ + 𝑓2 𝑥∗ ≤ 𝑓1 𝑥 + 𝑓2(𝑥)

𝑓1 − 𝑝∗ 𝑥∗ ≤ 𝑓1 − 𝑝∗ 𝑥
𝑓2 + 𝑝∗ 𝑥∗ ≤ (𝑓2 + 𝑝∗)(𝑥)

𝑝∗ ∈ ℝ𝑛

𝑓1 𝑥 , 𝑓2(𝑥) ∈ ℝ

𝑥⋆は𝑓1 𝑥 ＋𝑓2(𝑥)を最小化する𝑥



𝑓:ℝ𝑛 → ഥℝ ℎ:ℝ𝑛 → ℝ
inf 𝑓 𝑥 − ℎ 𝑥 𝑥 ∈ ℝ𝑛 = sup{ℎ∘(𝑝) − 𝑓 ∙(𝑝)|𝑝 ∈ ℝ𝑛}

ℎ∘ 𝑝 = inf( 𝑝, 𝑥 − ℎ(𝑥)|𝑥 ∈ ℝ𝑛)

𝑓(𝑥)

ℎ(𝑥)
𝑥

inf 𝑓 𝑥 − ℎ 𝑥 𝑥 ∈ ℝ𝑛

𝑓 𝑥 , ℎ(𝑥)
sup{ℎ∘(𝑝) − 𝑓 ∙(𝑝)|𝑝 ∈ ℝ𝑛}

𝑦



𝑓: ℤ𝑛 → ഥℝ 𝑓: ℤ𝑛 → ℝ
inf 𝑓 𝑥 − ℎ 𝑥 𝑥 ∈ ℤ𝑛

≥ inf ҧ𝑓 𝑥 − തℎ 𝑥 𝑥 ∈ ℝ𝑛

= sup{തℎ∘(𝑝) − ҧ𝑓∙(𝑝)|𝑝 ∈ ℝ𝑛}
≥ sup{ℎ∘(𝑝) − 𝑓∙(𝑝)|𝑝 ∈ ℤ𝑛}

𝑓: ℤ𝑛 → തℤ ℎ: ℤ𝑛 → ℤ
inf 𝑓 𝑥 − ℎ 𝑥 𝑥 ∈ ℝ𝑛 = sup{ℎ∘(𝑝) − 𝑓∙(𝑝)|𝑝 ∈ ℝ𝑛}

𝑔: ℤ𝑛 → തℤ 𝑘: ℤ𝑛 → ℤ
inf 𝑔 𝑥 − 𝑘 𝑥 𝑥 ∈ ℝ𝑛 = sup{𝑘∘(𝑝) − 𝑔∙(𝑝)|𝑝 ∈ ℝ𝑛}





• min𝑓

•



𝐺(𝑉, 𝐸) σ𝑢∈𝑉 𝑏(𝑢) = 0 𝑏 ∈ ℤ𝑉 𝑐: ℤ𝐸→ ഥℝ
𝑘: ℤ𝐸 → ഥℝ

min
𝑒∈𝐸

σ𝜙(𝑒)

𝑠. 𝑡.
𝜕𝑥 𝑢 = 𝑏 𝑢

𝜙 𝑥 = ቊ
𝑘 𝑒 𝑥 𝑒 (0 ≤ 𝑥(𝑒) ≤ 𝑐(𝑒))

+∞ (otherwise)

max
𝑝∈ℝ𝑉

෍

𝑖,𝑗 ∈𝐸

𝜙∙ 𝑝 𝑗 − 𝑝 𝑖 +෍

𝑖∈𝑉

𝑏 𝑖 𝑝(𝑖)

ℝ𝑉

𝑏(𝑢)



𝐺(𝑉, 𝐸) σ𝑢∈𝑉 𝑏(𝑢) = 0 𝑏 ∈ ℤ𝑉 𝑐: ℤ𝐸→ തℤ
𝑘: ℤ𝐸 → തℤ

min
𝑒∈𝐸

σ𝜙(𝑒)

𝑠. 𝑡.
𝜕𝑥 𝑢 = 𝑏 𝑢

𝜙 𝑥 = ቊ
𝑘 𝑒 𝑥 𝑒 (0 ≤ 𝑥(𝑒) ≤ 𝑐(𝑒))

+∞ (otherwise)

max
𝑝∈ℤ𝑉

෍

𝑖,𝑗 ∈𝐸

𝜙∙ 𝑝 𝑗 − 𝑝 𝑖 +෍

𝑖∈𝑉

𝑏 𝑖 𝑝(𝑖)

ℤ𝑉

𝑏(𝑢)



𝐺(𝑉, 𝐸) 𝑐(𝑒)

min෍

𝑒∈𝐸

𝑐 𝑒 𝑥(𝑒)

𝑠. 𝑡. ∀𝑣 ∈ 𝑉

෍

𝑢,𝑣 ∈𝐸,𝑢∈𝑉

𝑥 𝑢, 𝑣 − 𝑥(𝑣, 𝑢) = ቊ
− 𝑛 − 1 (𝑣 = 𝑠)
1 (𝑜𝑡ℎ𝑒𝑟𝑤𝑖𝑠𝑒)

𝑠

𝑥 = 0 3

1 1

0

= 3 − 2 = 1

= −3



𝐺(𝑉, 𝐸) 𝑐(𝑒)

max ෍

𝑣∈𝑉∖{𝑠}

𝑝 𝑣 − 𝑝(𝑠)

𝑠. 𝑡.
∀ 𝑢, 𝑣 ∈ 𝐸 𝑝 𝑣 − 𝑝 𝑢 ≤ 𝑐(𝑢, 𝑣)

𝑝: ℤ𝑉 → ℤ

※𝑝(𝑠) = 0

𝑠 𝑝 𝑣 𝑠

𝑝 𝑣 − 𝑝 𝑢 = 𝑐(𝑢, 𝑣)

𝑝 𝑣 − 𝑝 𝑢 < 𝑐(𝑢, 𝑣)



𝐺(𝑉, 𝐸) 𝑐(𝑒)

max ෍

𝑣∈𝑉∖{𝑠}

𝑝 𝑣 − 𝑝(𝑠)

𝑠. 𝑡.
∀ 𝑢, 𝑣 ∈ 𝐸 𝑝 𝑣 − 𝑝 𝑢 ≤ 𝑐(𝑢, 𝑣)

𝑔: ℤ𝑉 → ℤ

𝑔 𝑥 =
෍

𝑣∈𝑉∖{𝑠}

𝑝(𝑣) (𝑝 ∈ 𝑆)

−∞ (otherwise)

𝑔
𝑆 = 𝑝 ∈ ℤ𝑛 𝑝 𝑣 − 𝑝 𝑢 ≤ 𝑐 𝑢, 𝑣 (∀ 𝑢, 𝑣 ∈ 𝐸)}

𝑆 𝑔

𝑝: ℤ𝑉 → ℤ

※𝑝(𝑠) = 0



• 𝑁 𝑀

• 2𝑀 − 1



∀𝑝, 𝑞 ∈ ℝ𝑛 (𝑝 < 𝑞),
∀𝐴 ∈ 𝐷 𝑝 ,

∃𝐵 ∈ 𝐷 𝑞 𝑠. 𝑡. {𝑖 ∈ 𝐴|𝑝 𝑖 = 𝑞(𝑖)} ⊆ 𝐵

≠ 𝑝

𝑝
𝐷 𝑝

𝑓: 2𝑛 → ℝ



•

•

•

•



•

•

•

•

•

•
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